UNITED STATES BANKRUPTCY COU			NAME OF APPLICANT: HOLLAND & KNIGHT LLP		
SOUTHERN DISTRICT OF NEW YOF 	Chapter 11	Fees Previously Requested: \$0 Fees Previously Awarded: \$0 Expenses Previously Requested: \$0 Expenses Previously Awarded: \$0	ROLE IN CASE: CC	COUNSEL FOR THE DEBTORS AND DEBTOR IN POSSESSION	
PINNACLE TOWERS III INC., et al.,	Case Nos. 02-12477 and 02-12482 through 02-12484	Holdback Previously Requested: \$0 Holdback Previously Awarded: \$0	SUMMARY OF FINAL APPLICATION PERIOD MAY 21, 2002 THROUGH AND INCLUDING NOVEMBER 6, 2002:		
Debtors.	Jointly Administered	Interim Monthly Fees Paid Pursuant Administrative Fee Order dated May 22, 2002: \$1,721,799.77	FEES REQUESTED: EXPENSES REQUEST AMOUNT ON RETAIL		

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002 [*] RATES	TOTAL FOR FINAL APPLICATION PERIOD
PARTNERS					
Alexander, Mark G.	Litigation	1994 (FL)	1.50	\$275/295	\$412.50
Anderson, Rod	Litigation	1983 (FL)	209.30	\$295	\$61,743.50
Arouh, Jeffrey A.	Real Estate	1970	3.70	\$425	\$1,572.50
Bacheller, Chester E.	Corporate	1985 (FL)	269.00	\$370/390	\$101,922.00
Bailey, R. Gregory	Trust & Estate	1987 (VA) 1995 (FL) 1998 (DC)	6.10	335/350	\$2,103.50
Baldy, Anderson L.	Corporate	1985 (FL)	776.20	285/295/310	\$222,094.50
Barton, Bernard A., Jr.	Corporate	1975 (FL)	.20	\$360/380	\$72.00
Bast, Jeffrey P.	Litigation	1994 (FL) 1996 (NY)	.30	\$296/310	\$88.50
Bender, John A., Jr.	Litigation	1985 (GA) 1990	7.20	\$220/240	\$1,654.00

* Rate Change Effective January 1, 2002 and October 1, 2002

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
		(WA)			
Brooke, Thomas W.	Intellectual Property	1991 (DC, VA)	9.10	\$260/275	\$2,405.00
Brownell, Thomas M.	Litigation	1978 (VA) 1986 (DC) 1990 (MN) 1996 (MD)	22.10	\$305/325	\$6,740.50
De la Garza, Louis A.	Corporate	1975 (TX)	87.30	\$300/325	\$26,317.50
Dembling, Ross	Litigation	1976 (VA) 1977 (DC) 1993 (WV)	74.40	\$335/350	\$25,062.00
Dierking, John R.	Corporate	1992 (FL)	41.20	\$250/260	\$10,300.00
Eckhard, Richard	Real Estate	1980 (FL)	.40	\$335	\$134.00
Flynn, Mary T.	Real Estate	1985 (VA) 1988 (DC)	32.40	\$310	\$10,044.00
Gatto, Nicholas	Corporate	1986	60.70	\$395/425	\$24,462.50
Hole, Brian K.	Litigation	1994 (FL)	20.50	\$285/300	\$5,865.00
Howard, Christopher	Litigation	1980 (WA)	3.50	\$250/265	\$750.00
Hutton, Thomas J.	Telecommunications	1981 (DC)	13.30	\$360	\$4,788.00
Jones, Douglas S.	Corporate	1979 (FL)	325.8	\$295/310	\$97,989.00
Katz, Gordon P.	Litigation	1978 (MA)	30.50	\$340	\$10,049.00
Kerr, Andrew L.	Litigation	1974 (TX)	74.20	\$275/300	\$20,482.50
Lear, Richard E.	Bankruptcy	1983 (NH) 1985 (VA) 1986 (DC) 1987 (MD)	2.70	\$335/350	\$904.50
Leonard, Joel P.	Litigation	1988 (WI) 1992	61.80	\$200/210	\$12,360.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
		(MA) 1996 (OR)			
Levine, Jack A.	Tax	1975 (FL)	10.20	\$375/395	4,029.00
MacLeod, Scott R.	Business Law – Investment Advisor	1988 (NY) 2000 (FL)	.50	\$300/330	\$165.00
Matthews, Richard P.	Real Estate	1973 (WA)	.50	\$250/300	\$125.00
Mayerson, Sandra E.	Bankruptcy	1976	455.50	\$550/575	\$253,345.00
McRae, Thomas A.	Real Estate	1982 (TX)	146.00	\$275/310	\$42,047.00
Mintz, Robert M.	Corporate	1987 (IL)	.90	\$300/320	\$270.00
Monaghan, John J.	Bankruptcy	1985 (MA)	25.60	\$360	\$9,216.00
Morgan, Marni M.	Corporate	1995 (FL)	299.70	\$250/265	\$77,376.00
Nichols, Tracy	Litigation	1984 (FL)	7.20	\$380/395	2,788.00
Ossi-Hargitai, Judy C.	Litigation	1992 (FL)	10.60	\$240	\$2,544.00
Parlin, Barbra R.	Bankruptcy	1994	650.50	\$395/425	\$261,756.50
Phillips, John E.	Litigation	1989 (FL)	8.00	\$265/280	\$2,141.00
Prout, Maita D.	Litigation	1981 (CA)	1.50	\$325	\$487.50
Queirolo, Samuel P.	Real Estate	1990 (FL)	5.90	\$265/300	\$1,686.00
Santiago, Louis A.	Litigation	1978 (OR) 1994 WA)	5.90	\$240/275	\$1,416.00
Sessions, Mark G.	Litigation	1981 (TX)	230.00	\$260/300	\$62,196.00
Skelton, Patrick W.	Real Estate	1975 (FL)	96.40	\$265/275	\$25,706.00
Stang, Mark A.	Litigation	1980 (IL) 1985 (FL)	2.90	\$265/340	\$768.50

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Taisey, Robert D.	Trust & Estate	1953	.50	\$425/445	\$212.50
Travis, Catherine S.	Bankruptcy	1981 (OR)	23.70	\$240/265	\$5,688.00
Venardi, Mark L.	Litigation	1994 (CA)	1.00	\$295/330	\$295.00
Weiss, Alan M.	Bankruptcy	1981 (GA) 1982 (FL)	517.90	\$255/280	\$135,464.50
Weiss, Stephen J.	Corporate	1963 (NY) 1966 (DC)	26.20	\$425	\$11,135.00
Williams, Dwayne E.	Litigation		34.00	\$280/290	\$9,520.00
Wittenberg, John D., Jr.	Real Estate	1991 (TX) 1992 (MO)	9.40	\$250/290	\$2,350.00
Wolk, Lawrence J.	Real Estate	1975 (NY) 1995 (DC)	120.70	\$425/440	\$34,121.00
Wright, R. Douglas	Tax	1978 (GA)	2.80	\$330/355	\$994.00
Yadley, Barbara M.	Real Estate	1978 (DC) 1982 (FL)	129.10	\$290/300	\$38,326
PARTNER TOTAL:			<u>4,955.50</u>		<u>\$1,636,485.00</u>
SENIOR COUNSEL					
Burton, Susan T.	Real Estate	N/A	2.10	\$240	\$504.00
Curry, Ramona R.	Bankruptcy	1994 (Fl.)	33.10	\$200	\$6,620.00
Gonden, David M.	Litigation	1991 (CA)	.20	\$275	\$55.00
Patton, Douglas J.	Real Estate	1970 (IA) 1976 (DC) 1993 (CO)	.80	\$400/425	\$320.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Kinder Patton, Suzette	Litigation	1988 (TX)	.70	\$225/235	\$157.50
Watson, James H.	Real Estate	1975 (HI) 1999 (GA)	2.50	\$295/305	\$737.50
Woodson, Roderic L.	Telecommunications	1973 (PA) 1974 (GA) 1979 (DC)	8.50	\$300/325	\$2,550.00
Yukins, Christopher R.	E-Commerce	1988 (NY) 1989 (DC) 1998 (VA)	26.40	\$305	\$8,052.00
<u>SENIOR COUNSEL</u> TOTAL:			<u>74.3</u>		<u>\$18,996.00</u>
ASSOCIATES					
Adams, Chelsie K.	Litigation	N/A	3.80	\$195	\$741.00
Allen, Benjamin S.	Real Estate	2000 (FL)	3.10	\$145/165	\$449.50
Bell, Evan A.	Corporate	2002	6.20	\$180	\$1,116.00
Boeke, Noel R.	Bankruptcy	1998 (FL)	131.50	\$205/215	\$26,991.50
Butler, J. Todd	Corporate	1997 (GA)	19.10	\$215/235	\$4,366.50
Cole, Bradley S.	Corporate	1998 (MI) 1998 (DC) 2000 (FL)	94.00	\$160/170	\$15,788.00
Doyle, Dino A.	Corporate	2000 (FL)	4.90	\$140/145	\$696.00
Ebel, David R.	Litigation	1999 (WA)	18.10	\$170	\$3,077.00
Gerdes, Charles W.	Litigation	2000 (FL)	.50	\$165	\$82.50
Greer, Carlton	Corporate	2000	2.80	\$180	\$504.00
Guard, John M.	Litigation	2000 (FL)	12.70	\$150	\$1,905.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Harris, David G.	Litigation	1997 (NM) 1999 (NY) 2001 (TX)	249.10	\$175/195	\$44,684.50
Henderson, Michael J.	Litigation	2001 (FL)	11.80	\$130	\$1,534.00
Hill, Desiree C.	Litigation	2000 (FL)	5.60	\$150/160	\$840.00
Hurwitz, Shelley G.	Litigation	2001 (CA)	23.60	\$160/190	\$3,783.00
Kaklis, John W.	Bankruptcy	1994 (FL)	8.80	\$190	\$1,672.00
Kaplansky, Elaine	Bankruptcy	2001	173.90	\$230/240	\$40,256.00
Kelly, Douglas	Bankruptcy	1999 (FL)	4.30	\$180/185	\$774.00
Kelly, John G.	Real Estate	1995 (DC) 2000 (MD)	5.60	\$200/215	\$1,148.50
Krause, Michele L.	Real Estate	1994 (IL)	4.30	\$220/250	\$946.00
Land-Glinsboeckel, Jolee	Litigation	1998 (FL)	5.60	\$190/195	\$1,064.00
Linde, Stephen A.	Real Estate	1980	46.30	\$330/375	\$12,412.00
Lynn, Elise Batsel	Real Estate	1997 (FL)	2.90	\$185/215	\$536.50
Marks, Paul S.	Litigation	1988 (CA)	.40	\$270/305	\$126.00
Marshall, Andrea H.	Corporate	1992 (TX) 2001 (NY)	9.80	\$230/240	\$2,254.00
McClelland, Dennis M.	Litigation	1996 (FL)	.50	\$195/210	\$97.50
Miles, Jonathan S.	Litigation	1995 (TX)	16.20	\$195/220	\$3,159.00
Mills, Scott G.	Real Estate	1996 (GA) 1999 (FL)	3.80	\$165	\$627.00
Mueller, James T.	Real Estate	1995 (IL)	17.00	\$220/250	\$3,740.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Mullen, John D.	Litigation	1994 (FL)	4.10	\$210/220	\$861.00
Najmy, Louis J.	Real Estate	1998(NY) 1998 (FL)	172.00	\$185/195	\$31,899.50
Nelson, Todd A.	Real Estate	1996 (FL)	8.10	\$190	\$1,539.00
Nichols-Moore, Jennifer	Litigation	Admission Pending	61.00	\$130/150	\$8,032.00
Orr, William	Corporate	1999	2.30	\$230/240	\$529.00
Pak, Christina	Litigation	N/A	4.70	\$160	\$752.00
Reddy, Savitha	Corporate	2002	12.10	\$180/190	\$2,178.00
Rios, Frances D.	Litigation	2000	15.70	\$165/175	\$2,747.50
Rodriguez, Heather	Litigation	1998 (FL)	.30	\$185/195	\$55.50
Pinder Sanchez, Rebecca R.	Real Estate	1998 (TX)	74.50	\$165/185	\$13,782.50
Schoemann, Peter A.	Tax	1995 (FL)	12.60	\$205/215	\$2,672.00
Serbanos, Efstratios M.	Corporate	1999 (FL)	14.40	\$150/160	\$2,160.00
Shotzberger, Keith S.	Litigation	1998 (FL)	.40	\$175/190	\$70.00
Tucker, Krista M.	Litigation	2001 (FL)	4.40	\$130/140	\$572.00
Vance, Tara L.	Corporate	1994 (FL) 1998 (NY, NJ)	6.50	\$270/285	\$1,430.00
Watson, Alan J.	Litigation	1995 (CA) 1998 (IL)	51.80	\$200/230	\$10,782.00
Whitlock, Michael L.	Litigation	Admission Pending	31.10	\$170	\$5,287.00
Williams, Cathy A.	Litigation	1996(FL) 2001 (FL)	33.40	\$185/205	\$6,269.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Wolchek, Ellen	Corporate	1994 (NY)	8.00	\$270/285	\$1,760.00
Wright, Deborah P.	Real Estate	2001	42.20	\$205/230	\$8,651.00
Peter A. Zisser	Bankruptcy	1991	363.00	\$330/345	\$121,239.00
ASSOCIATE TOTAL:			<u>1,808.80</u>		<u>\$398,639.00</u>
LEGAL ASSISTANTS					
Arnett, Leslie M.	Corporate	N/A	241.20	\$115/120/130	\$30,176.00
Autrey, Linda H.	Corporate	N/A	1.30	\$115	\$149.50
Baker, Aaron P.	Litigation	N/A	2.50	\$95	\$237.50
Belcher, Terry L. (Paralegal Asst.)	Litigation	N/A	7.40	\$25	\$185.00
Bruneau, Johanne	Litigation	N/A	2.30	\$105	\$241.50
Flores, Lauren A. (Paralegal Asst.)	Litigation	N/A	45.00	\$25	\$1,125.00
Granger, Claire	Litigation	N/A	6.50	\$25	\$162.50
(Paralegal Asst.) Hartman, Linda C.	Telecommunications	N/A	.20	\$160	\$32.00
Hoagland, Allison B.	Litigation	N/A	4.70	\$155	\$728.50
Iskowitz, Mark J.	Intellectual Property	N/A	.20	\$110	\$22.00
Jeffers, Lisa M.	Litigation	N/A	.50	\$105/110	\$52.50
Karpf, Wallis B.	Litigation	N/A	1.50	\$130/135	\$195.00
Kimball, Jennifer	Litigation	N/A	.30	\$145	\$37.50

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD
Kinsella-Ball, Aoife	Litigation	N/A	.70	\$95	\$66.50
Lassiter, Mary (Paralegal Asst.)	Litigation	N/A	3.10	\$40	\$124.00
Margarico, Arlene (Paralegal Asst.)	Litigation	N/A	.40	\$35	\$14.00
Moore, Jaime L.	Litigation	N/A	18.10	\$105/110	\$1,954.00
Mueller, Yvonne D.	Litigation	N/A	5.50	\$110	\$605.00
Pratley, Christine E.	Real Estate	N/A	128.60	\$145	\$18,647.00
Reagan, Holly M.	Real Estate	N/A	20.10	\$150	\$3,005.50
Ross, Glen	Litigation	N/A	.20	\$85	\$17.00
(Paralegal Asst.) Scott, Katrina D.	Real Estate	N/A	88.50	\$130/140	\$11,508.00
Spaulding, A. Diane	Litigation	N/A	526.90	\$105/115	\$56,718.50
Wheeler, Kathleen T.	Corporate	N/A	13.70	\$145	\$1,860.50
Young, Didi S.	Litigation	N/A	45.10	\$95	\$4,284.50
Gina M. Ziegler	Bankruptcy	N/A	56.40	\$155	\$8,742.00
LEGAL ASSISTANT <u>TOTAL:</u>			<u>1,220.90</u>		<u>\$140,891.00</u>
<u>OTHER</u> PROFESSIONALS:					
Clark, Boyd L.	Law Clerk	N/A	33.10	\$130	\$4,468.50
Clonts, Kevin R.	Law Clerk	N/A	52.40	\$95	\$4,978.00

NAME OF PROFESSIONALS/ PARAPROFESSIONAL S	DEPARTMENT	YEAR ADMITTED TO PRACTICE	HOURS BILLED FINAL APPLICATION PERIOD	2002* RATES	TOTAL FOR FINAL APPLICATION PERIOD		
Del Colliano, Jean M.	Law Clerk	N/A	3.90	\$150	\$585.00		
Gabrielson, Owen M.	Law Clerk	N/A	13.00	\$130	\$1,755.00		
Green, Rudy D.	Managing Clerk	N/A	11.40	\$85/125	\$1,385.00		
Hoey, Christelette A.	Law Clerk	N/A	27.50	\$150	\$4,125.00		
Mpande, Cheryl S.	Law Clerk	N/A	22.60	\$150	\$3,390.00		
Pilgrim, Rocky L.	Law Clerk	N/A	18.70	\$130	\$2,524.50		
Ramana, Anand V.	Law Clerk	N/A	85.30	\$130	\$11,515.50		
Ramos, Elvin	Managing Clerk	N/A	4.20	\$150	\$630.00		
Wills, Jerome E.	Managing Clerk	N/A	1.10	\$60	\$66.00		
<u>OTHER</u> <u>PROFESSIONALS</u> <u>TOTAL:</u>			<u>273.20</u>		<u>\$35,422.50</u>		
GRAND TOTALS:			<u>8,332.70</u>		<u>\$2,229,176.40**</u>		
TOTAL BLENDED HOURLY RATE (All Professionals); \$267.52							
TOTAL BLENDED HOURLY RATE (Attorneys Only): \$300.37							

NYC1 #503197 v2

^{**} Total reflects a discount applicable to certain attorneys or other professionals and/or to certain sub-matters within matter 511 in the amount of \$1,245.65.